PSR (SR WOe] Tes SoAreels ez B w3 & s siiwfs fors wifers-

B GIRISERIN (SIS SIER [SRIERT)

o> | ABRIH Corstiereif™r oy st BT/ wet 37 37 feig O5/M8TL/S | 53/0%/305
0% Serete R SR 5ra 76 AN AA(S {18 o[BSt | Sd/0/305
) wifers o TR 5T wet S S o 00/MgTE S | Sd/0%/305k
08 R erresd 3 g I8 et ST AT foig 08/3E/St | S5/03/305
o¢ ARG Feres S 1= 6T 7o w7 fer 0G/TETL/S | 55/0%/05k
oy et 3 e 51 wet ST AN feis oU/NeTE/St | 3H/0%/0db
0q s 3 W2 oTR wel TR AT feig 0q/MSTL/S | Sd/03/300
ob (ofTeTrst 3 ST BT wiet ST=i<rs SAfarfe fers ob/TSTY/St | 95/03/300
o> *isett 3 T 5T wie ST AfSfs feng o5/TT3/SH | Sd/03/300
S Fererr 3 SR 58 we ST At forg S0/ /S | 3d/03/305
5 I eV o R BT & 1<y AN foig SS/TSEL/St | Sd/0/305
5% =R 3 A= 5T 7 71w AN feig SY/ALTE/Dy | 3d/03/05b
S0 IS 3 ST 518 v SToars AT fers SO/TLEL /S | Sd/0%/R05
58 SieT! 3 TR BT we STa_re Ao forg S8/ Sk | SI/0/305k
Y sftfersralt o R 5T/ wet 1=y AT feig SE/TSTL/SL | S3/0/05k
S i@ 3 SR G618 7t ST AT fes SU/ASTL/Sy | dI/0Y/0dk
39 51T o = 58T vt ST AT faig S9/M8EL /S | S3/03/305k
Sk JeArzd ifv e stie 519 (31 =113 o) s1=oy 51 51 fers 589 S/08/38
5 irere ifv 3 g 519 (751 =g %) sy 7 o /s fin 388 Sb/08/>8
) Tex q¥eTRe7 e = b1 (531 112 fer) =ty 51 f =isfe 8¢ Sb/08/58
D Ag Bg q¥eTRF 3 1= 51N (51 =13 &) F=y 1<% 5 38% Sb/08/58
N T O Ferfet 3 W 5 (37 w12 &) 5=y 7 5 feis 393 S/55/58
) Srerer 3 s 518 (31 =12 &) s1=ow s i foe NN S/55/58
38 e Bt e e o181 (B w1 o) sty sy oifwfe ferg | sqo SD/55/58
3¢ CTR%F g3 W= b1 (1 =112 &) W=ty 7= e feis 548 S5/55/58
W YA Y3 TR O (1 =12 &) 5=y 713 AT fors sae S5/55/58
| SIbes 32 Froa 3 3= 618 (51 =12 fo) W=ty 31 7 N S5/55/58
W GO AR o R 518 (7 @13 %) sty =1 AfSfS SED 50/09/58
B AT orell 3 R 51 (51 @13 fen) sty st AfSfe ferg | swo 20/09/58
) wifseeE g SR ore (1 wig fen) =3ty s s fers LY 9/09/58
©d T A 3 SR BT (51 =g 1) =ty sTe<ry sIfwfe fers NN 9/09/58
S i 3 st TS (1 =12 &) 1oy sty it feve NN 29/09/58
0o fera it 3 = 519 (751 =012 &) =% sT_rw e feig b8 29/09/58
©8 Fro 31,9013, f&r (oe) ST TS feis 0d /05/50
Y SBRbF 31,9013, fer (pateT) 1o sifaifs fers 03 Qb/05/59
oY = i 3,3, & (om) SRy A foig 09 /0559
©q I ezt stfza 51,3, for (3ote) st sAfsifs feig 08 /055
o I PIAT @EUINIAPF B, 918, & (1eT) STy Affe feis oG 2L/05/59
o> Qreyfz 1,03, f&r (Fote) STy s fers oY L/05/59
80 wete it 31,9118, & (zpore) sTr=rar sifsifs fers 04 L/05/59
8 o134 b3 1, @013, & (3pote) STy Affe fes ot /05/59
83 o3 5K 4,012, & (Fo7eT) ST ST feig od /05/59
89 aftfersr < 1,13, & (7o) sTorarw sAfSfs fers Y /0[50
88 U 7R 1,913, & (o7e) ST_rw T feig 3 35/05/59
8¢ A 4 1,013, fer (e ST AT forg 52 /05[>
8y oieToa| 71,913, fer (Fo1eT) ST Afe fer S0 5/05/59
84 A 1,903, & (Fo7e) STarrw sifwfe feis 58 D/05/59




8 QLETRHR (T 1Y 31,1, fer (1) 1= i fers NG /0550
85 TIF SR wised 17,9013, & (F97e7) ST Affe fors N ©0/05/5®
@o @G z@fwat 1,3, f& (Fo1e) STt sAfafs fers 3 ©0/05/5®
@ TRy 1,913, & (ore) STy At feig S ©0/05/>0
@ wiwe AR 51,913, & (Fo7e) TR TS feig % ©0/05/5®
) faifq 51 1,918, for (7o1e) sToras AT fers S0 ©0/05[59
@8 ETR-R 1,03, e (o1e) T A feig D 05/50/59
ee G et 31,03, & (over) sTorry i ferg R 05/50/59
) TR B, wg, fer (o) TR SAfwte fers 29 05/50/59
& QYRR FifersiiR®et 34,913, fer (Fo7eT) I AT feig 38 05/50/59
@b 2ifersm 1,913, fer (o7en) sTwi_m AAfaif fare ¢ 05/50/59
@S QIR 22T SATST 31, @013, & (povet) ST7=rx 5 fers B 0%/50/59
o AR “ret 3,93, oy (Fo7) SR Afwte fors A 0%/50/59
LS ] G 34,9013, & (7 ST Afsife ferg T 03/50/>®
S Frereraft 1,93, for (Fore) ST Al fos B 0%/50/>9
Lo iferoa 51,013, fer (Fo7e) ST AT foig ©o 03/50/59
w8 Tt 31,13, fer (ofe) ST SAfife fers > 09/50/59
Vg 5 onrfet 1,3, fer (ore) st sIfSifs favs © 09/50/5®
LY o 31,913, for (e st sl feavg © 09/50/59
4 T #3-> B1,%013, fer (7e) st Afsif® ferg 8 09/50/5®
A A& v (f2e) B, e, & (1) s Affe fers 0@ 09/50/59
) et 31,9013, & (e TR siffs ferg oY 09/50/59
9o I3 31 3,013, & (poter) st ifsife fefg 04 09/50/5®
EN Teg M&7F 31,013, & (Foren) s1army sAffs fars o 0L/50/59
a3 fafResm 51,03, fer (Foe) ST AN fors S 0L/50/59
qQ ARG wolis@ 31,013, e (potern) s1ar=ra ifsifs fers 80 0b/50/59
a8 Ferret 17,9013, fer (F97e) TR e foe 8 0b/50/59
a¢ ol SRt Sreft 57,913, fer (Fo7e) Ty Affe faig 83 09/50/59
v GEIE ARV 17,9013, & (F97e7) STy SAffe fers 89 09/50/5®
qq R 1, & (ote) STy 1 s fes 88 09/50/59
p &2 i B,=e, & (o7 s sAfSfS fos 8¢ 09/50/59
N AR e 31,9013, & (Fo1e) ST AfNfS fors 8 09/50/5®
ro LY JeTofF 31,91, & (F7eT) STy e feig 84 Ob/50/59
S AN S[ReAeT5[F 31,013, & (Fo7eT) e Afife ferg 8t ob/50/59
bR CRA7fR 3,013, & (Fote) ST Ifsife ferg 8% ob/50/59
e e (i) 1,03, & (oTe) ST A ferg Go ob/50/59
>8 ResfE (et 3,013, f& (1) ST siffw ferg @ Ob/50/59
ve et (=en) B3, & (w97 st s fors @ ob/50/59
b “fifera sir=eai=t 51,913, for (e st s feag @o ob/50/59
>4 IR AATe/rerea Af=ai,9013, & (F97T) o 7 forg @8 05/50/59
b SRqeTes 1,913, & (F1e) sTerarw Al fers @G 05/50/590
[N et 31, @03, fey (ote) sy sifsifis ferg @y 05/50/59
So SIS AT Sttt Wiz 5,903, & (w7 ST 7 forg ¢q 05/50/59
S Qo173 3,03, fer (ote) st Ifsife ferg e 05/50/>9
53 Tag YA 74,9013, & (Fo7eT) ST AT feig ) 05/50/59
) Tewret it (wwfzen) 1,03, & (o) ==y oAt foig Lo 23/50/59
58 Tag A&7 (Wfret) 1,013, f&r (pore) st AT feis by 3d/50/59
5S¢ b TwiR v (A=) 7,903, & (F97) s = fors LY 2D/50/59
SN 53 Gt (e 51,03, & (w1e) sti_rw siffs ferg LY 2D/50/59
NG T it 5,9, for () st At fag 8 2D/50/59




St iR YA 731,91, & (Fo7eT) STy i feig @ 20/50/59
) 7 bifern 51,913, for (Foten) st At favg LY 20/50/59
00 AMRGN wiei7q (Wfet) F31,@03, & (pore) s1arama sifsifs fers v 20/50/59
305 IR 1w 1,03, & (ote) STy S fes b 20/50/59
503 =B TFEINF (2FF) 51,9112, (o7e) stararm S fovg b 39/50/59
S00 <7 @oifer (=) ™,@g, for (Fore) ST Affe fere Qo 38/50/5
So8 Jewmiar 93, for (e s A fag EN 39/50/59
S06 IrFEET 37,9013, fer (1) STerarn Al ferg ay 29/5%0/59
Sob =7 v B, oy, f& (or) ST It fers £ 39/50/59
09 wifs=R 1,91, & (7eT) STy e feis a8 39/50/59
Sob SR 51,9013, & (Fo7e) sTorare Affe fors ae 29/50/59
0% Lo AR 137,918, &7 (F97) STy AfNfe fers v 29/%0/59
S0 ALY TNRITG 51,9013, & (FTer) ST s fers Q9 29/50/59
5 ! weTe 31 @R, for (e sTwars e fag Y. 29/50/59
3% e (=2i=pa 1,903, &7 (7o) ST ifsifs fers a 29/50/59
) JT TR (T2 1,013, fer (o1e) sty sAfwfo foig vo 29/50/59
358 Sift 2ot 51,913, &y (oe) 7= sAf¥fs feig S 5/50/59
»e g T 1,3, & (Fote) STt SAfafs ferg = Sb/S0/5
MY 7R AT 31,9113, & (o7e) sT=i_rw sAfaifs fers b9 b/50/59
4 e 51,913, fer (Foter) ST s fag »8 SB/50/59
Ny =7 w7 (vfgem) f51,es, o (e st At fas e S5/50/59
) STErT=E (Nfeeth) 1,03, fer (o) ST AT fers ) b/50/59
330 % =1 iTe 31,9113, & (1) sy Aff fore >4 35/%/59
53D IS THESIR (et 1,13, fer (97 o=y AT fore b /%[5

NN T3 1% (aAfer) B3, fer (woren) st AfSfS ferg b 5/50/590
39 sttt 51,3, o (voten) st sAfarfs fers So 5/50/59
538 SIS AT St 751,013, fey (F1e) 1oy faifs ferg ) ©0/50/59
3¢ e 1,03, fer (poren) sTei_ Sifafe feig N ©0/50/59
S vt 51,3, fer (wote) sTsi_r sifwfe feig ) ©0/50/59
4 Arererar 1,3, & (o1 ==y Affs feig 58 ©0/50/59
NN erriet if 1,913, fer (zpote) ST At fers Se ©0/50/59
53 s 31, @03, e (poren) sty ifsife ferg oY ©0/50/59
S00 oot 31,9013, & (F7e) ST AN forg NG ©3/50/59
N SieTeen (Nf=ef) 4,912, & (Fo7eT) 1w AT feig St ©5/50/59
03 JE131 FifY (A=) 39,9013, & (Fo7) STy Afwfe fors ) ©3/50/59
Soo | T Y 1,93, fer (ote) ST Al fere %00 ©5/50/59
S08 LT JETeofF 31,91, & (F7eT) STy e feig 505 ©5/50/59
Soe ifore 51,913, ey (wote) T sifwfe feis d03 JL/95/59
SOb | K PFRANRM 7,913, & (1) A1 AAT® ferg 509 /55/59
S04 A G 1,013, & (1) s Affe ferg Y08 /5559
Sob | IFFEA 53 wfgen 51 w13 & (ove) sterar i fers So¢ /55/59
S0 | IR EINRM 5,913, fer (7e) ST AW fevg 5% 0@/05/58
S80 G afza f&,903, & (or) st s fers Svo 0@/05/58
58 Tega it 51,13, fer (w7e) sTs_r Affe feig N 0G/0d/>8
8% === 31, @03, & (3Fote) ST s fes S08 03/03/58
389 Fifa 1,03, fer (zpoTen) ST AT ferg Soe 03/03/58
588 @G e (31 @R & ) (F97) sTe<m sAffe fors N 29/09/58
58¢ 21357 1 @12 & it (poren) sTerars it farg SuY 39/09/38
8L e Wfeetl B o f& (o7 ST AT feig NG 39/09/58
584 A 51 o3 fer sifzert (ot st s1ffe feig S 29/09/58




S8k gfmig ot 51,9013, & (3o1e) serars s fers 399 08/0%/5¢
8% I3 iU 1,13, fer (7e) st sAfwfe feig S 08/0b/5G
N AT SATS 31,013, & (Fote) sty Afife ferg 39 08/0%/5¢
NS ferq it 1,913, & (1) sTr=rw e feis Sho 08/ob/5¢
N ARy 3,93, e (ore) st sIfSfs fas N 08/0%/5¢
NS T3 AT Fifw 5,@013, & (797 st AfSifs fevg W 08/0%/5¢
58 iR (Wfer) 1,013, e (zFore) st s feis Sbo 08/0b/>¢
NG AP 11,903, & (F97e7) T Afafe fors S8 08/0b/5¢
N ARSI 1,913, & (F7e) ST sAffs fors W@ 08/0%/5¢
NG ferq it (feem) B9, & (o1e) sy siffs fes Sy 08/ob/5¢
N T oA T 37,9013, & (F97e) Ty Affe fors 4 08/0%/5¢
N wifsReR 51,918, fer (o7e) sTs_rw Af¥fs feig Skt 08/0b/5¢
Svo T A 1,013, fer (Foe) ST AT forg S oOu/ob/5¢
N AF Sreit Tex 51,9013, & (F91e) T Affe fors SHo oL/ob/5¢
b3 ARG @eiiRsd 37,9013, f& (1) st sIffe feis ) oL/ob/5¢
LY A et 51,013, (397 == AAffs fers 3R oOu/ob/5¢
Su8 FrEm 5,3, & (1) s Affs fog Y oL/ob/5¢
e oraifn Icfwa 3,903, & (w9 SR Afwfe fors 58 oL/ob/5¢
Sy | IR AT qefiel IifH% (meFie S B3, & (397 A1 | S5 38/0%/5%
S FF Prenzfe (1) T e fois 05/T8/305S | 53/09/205%
Sub wiaRe YT Wizel Prenefe(are) sry AT forg OX/T8/R05S | 53/09/205%
) vReTeRAl frergfer (wter) STy el ferg 00/ N3/5% 33/09/205%
S0 A1 WiET Porenafer (F91e) sTw<rw ATS g 08/W8/R05S | 53/09/205%
N wiEe &R Frenafer (wore) srr At forg 0G[T3/R05S | 53/09/205%
N SIZANReT Prenafer (F97e) AN AT faig OL/ZIR0DS | 33/09/05%
39 PR oA1S #ffe Frenzfer 3 7 feis o>//5S 03/09/5%
»a8 IR ST #ftefy Prengfer 3 5 feig 03/ 03/09/5%
3¢ JGT ST sie Frerafer s 7 fag 00/T8/5S 03/09/5%
S | ARSI/ ST Aot Prenafe 08/78/5S 03/09/5%
%9 76 GYEIRSF TST Alei Frensfer 31 5 0G[TSS>S 03/09/5
S feqiGt St e Prenafer 51 7 fers ou/TL/SS 03/09/55
REDY wiape Sfeid M #feT renafer 51 3 feig 09/T8/5% 03/09/5%
Sbo | WY ATRRATS #I1S7 At Frenzfer 1 7 feis ob/8/5S 03/09/55
S FIGE N Al Frenzfer 57 7 feis oS/ 03/09/5%
Sy | @IE ENRM YZ HAleT 5 =i & A S0/TE/5S 03/09/5>
So R AN 19 Al 51 ogfer 51 feis SS/TL/SS 03/09/55
S8 GRS 23N Aot Frenafey 57 57 fers SI/TE/SS 03/09/5
S AR5 T 2T 3N e Prensier 31 1 SO/T/OS 03/09/5%
Sy | W TS I RN Ao Prenefer 51 S8/58/5S 03/09/5%
>S4 el JF AteT Hrenafer 1 ¥ feis SE/TL/OS 03/09/5%
Sbb | @ R Y WBTOTeFE Afe3fer 7 37 NV 03/09/5S
Ny TLF AN o1 (NGToIeT F== Frefafer 51 5 fefg /TS 03/09/5%
SHo 1 QIR oIy (NGT Srert T 37 =13 fer 3 o fors SH/TS/SS 03/09/5%
55 G *Ig (BT ©rent T frenafer 7 7 fois SS/TE/SS 03/09/5>
N CRAT o1 (NIGT Siert w2 51 =13 fer 51 7 fevg 20/78/5S 03/09/5%
>0 | B8R EIRHR 1Y (WIGT o = reigfer 31 3 fof RD//5S 03/09/5%
58 Tw/m+ A0 g (BT ©rert w1+ 51 =13 fer 57  feig S8/TY/SS 03/09/5%
e fafRegsa rSiefe 51,03, & (A1) T7=m3 7 feig A ©/53/59
BY TS AT 51,013, e (2ATaPT=v) sty 7 fers S ©5/5%/59
9 wifero7 R Aler 51,901, & (2w ST 7 feis 9% ©/53/59




S SICAT RN AT 51,9013, & (SATArm) T30y 7 feig 330 ©5/5%/59
3% ARSI o1 (BT Sient = 51,913, & (A1Terim) 3 3D 0Y/58/59
300 FR127 I o7 (NIGTeTe F= 31,9013, & (2Arersi) 5 5] ©S/53/59
205 P TS AT 31,9013, fer (2ArAPrrin) =y ferg 539 ©5/5%/59
0% AT JFA Al 3,013, f&r (2fTram) STarx 5 fers 538 ©/53/59
209 T Sref o7 BT ot T 51,9013, fer (A1) Sou 00/0X/>8
%08 SR YFN AT 4,012, & (2w ST 3 feig S99 20/0%/58
06 SRR ST Sife 1,013, & (2{TPTiv) ST 7 fois Sob 30/0%/58
08 R A7 290 Ao 51,913, fer (A1) ST o feig SO® 30/0%/58
309 %R fRATT 2 (T STer T3+ 57,901, & (ATApreiw) 580 QL/0%/58
ok 139 I g (NGT ©Tert F= 31,9013, & (2 er>in) 38 20/03/58
R05 | NFrel g (BT oSt FI 51,913, & (2 rr=>m) 383 L/0%/58
Y 7R AR 190 Al 7,013, & (2iapr=m) 31 A Nfe N 05/0b/>8
89 IT AWM o1y BT ST 9= 51,913, & (A1) 51 5@ 05/0b/58
Y ISR ST Areiw 51,9113, fer (ATTrrm) a1 7 feig N 05/0L/58
Do | Bz 7N s e, e (@rmerem) 51 7 far N 03/0L/58
28 TSR oS SAer 31,013, & (2aprin) 7= 3 feig 5¢8 03/0b/58
NG BIfeT =g (BT OTen T+ 31,913, f&r (2fTAr>im) 31 5 N 03/0Y/>8
DY MEF AR o (BT ofe T3 131,913, fE(ATr=oiw) N 05/0b/38
4 Jfera i @M At 1,013, & (2raer>iv) 51 feig NG 05/0b/58
D Jfera iU ST sAte 37,013, f&r (21 aer=in) sPifsfe fois N 05/0b/58
DS QSIS ST IJZN AT 37,9018, e (fT_rr=siw) 31 =1 SuS 29/09/58
3%0 ARG STANRM ST 2= 57,9013, f&r (Aror=om) 1 A %90 39/09/>8
(RAM P SAT)
Boiteret AR STy




